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ELECTIVE COURSE : ECONOMICS
O

EEC-9 : APPENDICES/ECONOMIC CONCEPTS
AND POLICIES

Time : 2 hours	 Maximum Marks : 50

(Weightage 70%)

Note : Attempt questions from each section as directed.

SECTION-A

Answer any two questions from this section : 	 2x10=20

It is said that the failure of planning in India is

due to its adoption of the Mahalanobis strategy

of growth. In this context, do you agree that in

the present situation the technique of economic

planning is redundant in India ?

What are the essential differences between Irvine

Fisher's equation of exchange and the Cambridge

version of the Quantity Theory of Money ? 	 In
what ways does Milton Friedman's version differs

from the Classical Quantity Theory of money ?
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What is Inflation ? Distinguish between demand
pull and cost push factors.

What do you mean by federal finance ? Is there
any truth in the assertion that Finance
Commission awards are biased towards the
centre ? Give reasons in support of your answer.
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SECTION - B

Answer any three questions from this section :	 3x6=18

What is devaluation ? What conditions must be
satisfied for devaluation to be successful in an
economy ?

Critically analyse the marginal productivity
theory of factor pricing.

6 7.	 Define the meaning of terms of trade ? Can a
non-profit tariff improve a country's terms of
trade ?

What are the characteristics of homogenous
production function ? Why must the expansion
path (of a firm) be linear ?

Explain the Keynesian notion of under
employment. To attain full employment
equilibrium, what prescription did Keynes
advocate ?
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SECTION - C

Answer all the questions from this section : 	 2x6=12

10. Write short notes on any two of the following :

Concave indifference curve

Say's law of markets

(c)	 Investment multiplier

11. Differentiate between (any two) :

Break-even condition and Shut down
condition.

Partial and general equilibrium

(c)	 Nominal rate of tariff and effective rate of
protection
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